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General Answer Format:

Each Sudoku has two marked rows or M
columns. You need to submit all digits

in the corresponding directions, from

left to right or from top to bottom.

In the example, the two answer keys
are:

1A: 367594218
1B: 283749165

All puzzles will use digits 1-9 in the
submission. I

Submission Page:

http://gp.worldpuzzle.org/content/
sudoku-gp

Version:

This is version 1 of the instruction booklet.
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Points:
1 Classic Sudoku
2 Classic Sudoku
3 Classic Sudoku
4 Classic Sudoku
5 Classic Sudoku
6 Anti-Diagonal Sudoku
7 Irregular Sudoku
8 Windoku
9 Determinant Sudoku
10 Fortress Sudoku
11 Renban Sudoku
12 German Whispers Sudoku
13 Read the Room Sudoku
14 Escape Sudoku
TOTAL:

21
23
28
39
45
36
48
54
55
59
63
90
37
62
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1-5 Classic Sudoku
Place a digit from 1-9 in each empty cell in the grid such that each row, column and marked 3x3 box
contains each digit exactly once.

Example Solution
1|8 214 5(9 118 6214|713
6 9 1 3|6 715 9/412|1 8
38 9 82 411 7/3]6/5 9
1 98 5 6 113 2|9 85|74 6
4 3 / 8 6/4 5|3 1/7]9|8 2
9 4126 1 9/7 8|4 2/6]5/3 1
7 4 715916 31|82 4
8 4 6 28 3|7 4/9]|1|/6 5
6|2 813 411 6|2 58|39 7
6 Anti-Diagonal Sudoku
Apply classic sudoku rules. Each marked diagonal must contain only 3 different digits.
Example Solution
1 3/6]4]2]9]8[1]7]5
21571 |6 sl1]2]5]7]4]|6]3]9
5 42 ol5|7|3/6]1]8]4]2
8 4 6/8/3[1]4/5]2]9]7
21 |s[ 19| |5 71211|613]9(4|5]8
2 6 419l5|8l2/7]3]6]1
1] 4 2 114]8]ol5[3[7]2]6
9 8|65 2(3|9|7/8/6|5/1/|4
6 5/716(4(1]2]9|8|3
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7 Irregular Sudoku
Place a digit from 1-9 in each empty cell in the grid such that each row, column and marked 9-cell
region contains each digit exactly once.

Example Solution

2 9 1 8 2/415 9 7 16|38
7 3 5 87 9|12 3 4|11 5 6
3 2 615 3 1[8|7/2 9]4

9 /7 3 2 9/1]16]7 5 3]4]8 2
3 7/ 43 8|6 9 2|57 1

5 4 8 9 5/2|714 1 8]3]6/9
4 8 /719 4 5(2|6/8 1]3
8 6 4 118/ 2|3 6 5|9 47

3 8 9 S 3/6]1 8497|125

8 Windoku

Apply classic sudoku rules. Each shaded region must also contain each digit from 1-9 exactly once.

Example Solution
5 3 2/4/611/5/718/9]|3
4 6 9|8(7]14/3/6|5/1 |2
3 7 5/1/3]19/8 /2|74 6
2 4 8 7121516149381
1 2 5 9 113(812(7(5|4/6|9
9 1 5 619413181257
1 9 8|6/1]17/2/4]19/3 5
8 1 3/5/218|9|1]|6|7 |4
4 6 417/915/6|3|1/2|8
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9 Determinant Sudoku

Apply classic sudoku rules. The determinants of 2x2 matrices are given in center of four cells. The
determinant of a 2x2 matrix is axd-bxc, where a is the top left, b is the top right, c is the bottom left
and d is the bottom right element.

Example Solution

1 21 |3 4] |5 119/218|3|714|6|5
2 3/ 7.5|4(6(2(911 8

By [5E ] [ ]
& %% 4 &5 [1(5 9275 7

46] 46 1
€ 1 8|217[3]1/4]8]5 9
5| T4 3@ 2 5174|197 |6 3@8 2
2 T 9/3/6]5|218|774 1
£ 7151769 38l2 4

S it a1 541
2 6 479(2/8[5[177|3
21 3] |4 5 |6 218/3|7/4|1]|5|9 6

10 Fortress Sudoku
Apply classic sudoku rules. A digit placed in a shaded cell must be strictly greater than digits placed
in orthogonally adjacent unshaded cells.

Example Solution
8 4 1 3/8 5(9 4 7|26 1
9 6 |3 9|1 7|6 2 3|4 5 8
2 3 46 2|8 1 5|3 97
3 1 /713 412 8 6|9 1 5
8 4 8|2 1|5 3 9|6 7 4
5 2 6/59]4 7 1|8 2 3
3 5 119 3|7 68|54 2
1 2 6 °ol4 8|1 9 2|7 3 6
2 9 8 2/7. 6|3 54]11.89
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11 Renban Sudoku
Apply classic sudoku rules. Shaded regions must contain a set of distinct, consecutive digits in any
order.

Example Solution
28 5 2 8|36 9|7 1|4
6 7 3 112|4 5|8 9|6
7 1 3 4 9/6|7]/1 8|2 5|3
1 98 714|3 2|1 6|5
3 7 4 6 5397 1|4 8|2
2 14 2|85 6|3 79
3 8 4 3 6 5|18 4|9 2|7
8 8 7 9|52 3|6 4|1
5 3 2 1 4]16/9 7|5 3|8

12 German Whispers Sudoku
Apply classic sudoku rules. Adjacent digits along each marked line have a difference of at least 5.

Example Solution
7 9 8(712(4/5/9]|1|3|6
3 1 2 3/14/9|6|1,7|8/5|2
8 7 511683 |2|9/7|4
1 3 6(2/1(5/7|8(3|4]9
9 6 719/3|1/4/6|5/2|8
4 2 1 415/8|19/2(3|7|6]|1
7 8 2/3(4|17|9|1|16|8|5
7 4 9/6(7(2/8|5|4|1/|3
8 4 118513614297
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13 Read the Room Sudoku

Apply classic sudoku rules. Within each 3x3 region, exactly one of two constraints (A or B) applies:

(A) Digits placed in adjacent cells within the 3x3 region must not be consecutive,

(B) Each cell must be adjacent to at least one other cell within the 3x3 region where the digits placed
in both are consecutive.

Neither constraint applies to adjacent cells in different 3x3 regions.

Example Solution
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3 1 7 5

14 Escape Sudoku

Apply classic Sudoku rules. Each of the shaded cells has an escape path to the edge of the grid. An
escape path consists of a series of adjacent cells containing a descending consecutive sequence of
digits. All escape paths begin with the digit in the shaded cell and end at a cell containing a 1 at the
edge of the grid. Escape paths starting in different shaded cells never share any cell. It is possible that
a shaded cell can have more than one escape path.

Example Solution
1 5 711721314 9]8l6]5
3 4 1 |7 3(slal2]5/6|1]9|7
5 4 6/5/9|1]8.7[2[4!3
9 81711]4]19|3|615]2
6| |8 ol4l5l6] 287 3]+
7 2316|557 1|98 4
2 7 112(3]9/6.5(4|7 8
5 7 3l |9 5l6|7(8]1(4]3]2]9
9 1 4l9l8l7]32]51]6




